Unit19 | left my bag on the train.
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(1) This expression implies emotion towards the action a speaker has performed, like “I failed,” “I fell sorry”
“I'm in trouble™ or “I should not have done it.”
Example1) %%%%%F:ﬁ%ifLi\ vEL7z, (I have gotten on the wrong train.)
Example2) ﬁ\%iﬁul\\fti/)f\ %ﬁ%ﬁil:?\%ﬁi%bf‘tf:o (I came down with a cold and could not
go on the trip.)
Example3) /*"/2‘/f]"§§ﬂfti\ vELA, (My PCis broken.)
Example4) /\“—/f‘/?‘t@&%\\%%L/Ctiof\ g%lﬁ%ﬁi%ﬁ*%‘)i%&o (I have bought so

many things on sale, so I'm broke this month.)

(2) ~bHx)
In spoken Japanese, “~%Hx7" is more often used than “~LCLFH” . “~CLF)/LE-~" s
transformed into “~5Hx9/He-7=" (Ex.5 & Ex.6), and “VTLE)” into “~U»9/Ux»-7=" (ExD).
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7 %ajv~l\§é’<%%5o (Recently, | eat chocolate every day.)
259 Buw b
Example6) 5B, #wZiblimnbre-/2, (Today, | left my mobile phone in my house.)
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Example7) F7=. 7‘:<i‘&i§5§é§i&t‘&o7€o (I have had too much wine, again!)
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2. VITIV2/V1enwTV2
Ex.1 shows that the speaker performs an action (V2) when he/she is doing (V1), and Ex.2 shows that the

speaker performs an action (V1) when he/she is not doing (V1).
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Examplel) A : :!—l:—‘é?g(ﬁég\ 72 *ff%)\ﬂf ﬁ}’(o@i?‘ﬁ\ (When you drink coffee, you drink it
with sugar?)
B:z2%Z. )\‘\Zf/t/@g(%niﬁ‘ (Yes. | drink coffee with sugar.)
Example2) %\:é(i\ ? %é%i‘%f W K%’\Eﬁfti\ vEL7z, (Today | came to university

without my mobile phone.)

~ELh -7
This phrase is used fo reflect on what a speaker has not done (Ex.1) and to express regret about what

have not happened (Ex.2).

Example1) A : 7 ANIE ) TL7=%, (How was your test?)
B: g\gﬁhﬁ\‘)i%/wf“tﬁo %ot%?fﬁjﬂ‘h(i‘iﬁ‘oﬁf“?‘o (I wasn't able to do very
well. | should hove studied harder.)
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Example2) A : 55:& @,%MT iﬂttf]\ﬁf T3 &, (I had a good time during the trip last week.)
B: Z9T¥H, ?FA%WH TL-7=TF, (You did? | should have gone.)
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